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Which of the following are characteristics of a linear equation graph?

A. lt is a straight line. v

C. It can curve upwards.

D. It forms a closed shape.

C. It has a constant slope. v

In the equation y = mx + b, which components can be directly identified?

A. Slope v

C. X-intercept

D. Vertex

C. Y-intercept v

Explain how you would find the x-intercept of a linear equation given in standard form.

Set y = 0 in the equation Ax + By = C, then solve for x to find the x-intercept.

Which methods can be used to solve a system of linear equations?
A. Substitution v
C. Graphin v

D. Completing the square
C. Elimination v

In the equation y = 3x + 5, what is the slope?
A.3v

C.-3

D.0
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What is the graph of a linear equation typically called?

A. Parabola

C. Straight line v
D. Hyperbola

C. Circle

What is the standard form of a linear equation in two variables?
A ax +bx+c=0

C.y=mx"2+b

D. x"2 + yN2 =12

C.ax+by=cv

Which method involves solving a system of equations by replacing one variable with an equivalent
expression?

A. Graphin

C. Elimination

D. Factoring

C. Substitution v

How would you convert a linear equation from standard form to slope-intercept form? Provide an
example.

To convert a linear equation from standard form to slope-intercept form, isolate y. For example, from
2x +3y =6, we gety =-2/3x + 2.

Discuss the importance of the slope in understanding the behavior of a linear equation.

The slope is important because it represents the rate of change in the linear equation, indicating
how much the dependent variable changes for a unit change in the independent variable.

What is the x-intercept of the equation 2x + 3y = 6?
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A.3 Vv
C.6
D.0
C.2

In the context of linear equations, what does the term "linear" imply?

A. Exponential growth

C. Quadratic form

D. Circular motion

C. Proportional change v

Which of the following statements are true about the slope of a line?

A. It represents the rate of change. v/

C. It can be positive, negative, or zero. v’
D. It is always greater than zero.

C. ltis the y-intercept.

What does it mean for two linear equations to have infinite solutions, and how is this represented
graphically?

Two linear equations have infinite solutions when they are equivalent, meaning they represent the
same line. Graphically, this is shown by two lines that overlap completely.

How can you determine if two lines are parallel just by looking at their equations?

You can determine if two lines are parallel by checking if their slopes are equal. For example, in the
slope-intercept form (y = mx + b), if the values of 'm' are the same for both lines, they are parallel.

Describe a real-world scenario where a linear equation might be used to solve a problem.

For example, if a person wants to buy x number of notebooks at $3 each, the total cost can be
represented by the linear equation C = 3x, where C is the total cost.

Which of the following are forms of linear equations?
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A. Slope-intercept form v’
C. Quadratic form

D. Point-slope form v’

C. Standard form v’

Which of the following represents the y-intercept in the equation y = -2x + 4?
A -2

C. -4

D. 2

C.4v

If a linear equation has no solution, what can be said about the lines?
A. They intersect at one point.

C. They coincide.

D. They form a right angle.

C. They are parallel. v

What are possible solutions for a system of linear equations?

A. One solution v

C. Infinite solutions v’
D. Imaginary solutions
C. No solution v
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